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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

Fierce winds and deadly waves were only one ~—————--—--many explorers like Christopher
Columbus confronted when sailing to unknown lands.

1) suspension 2) obstacle 3) shortage 4) variation

In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ------------ - to find new supplics.

1) discouraging 2) refusing 3) invading 4) struggling

The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This —=—eeeeeeeeee- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

True, all economic activities have enviroamental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --—eeeeeee- ---- ¢ffects on the environment as
much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary

Like most successful politicians, she is pertinacious and single-minded in the —----eeeveeeeee
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
Knowing that everyone would ------eeeeew--- after graduation, she was worried that she
would not see her friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge

Certain mental functions slow down with age, but the brain -------—---—- in ways that can
keep seniors just as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes

It is argued by some that hypnosis is an effective intervention for ---—--—---- pain from
cancer and other chronic conditions.

1) displacing 2) alleviating 3) exploring 4) hiding

Children who get —---eeeeeee- -- atmosphere at home for studies perform better than

students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional
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10- The post office has promised to resume first class mail -----—--e=-—— to the area on
Friday.
1) attention 2) progress 3) expression 4) delivery

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) ~—=—=m=em=—- 1970, she
completed her first performance with Hommage a Delacroix, (12) was
the beginning of an artistic career (13) ----==-s--=—--= to the oneness of art and life.
(14) —mmmmmmmmmemean . actions and performances on streets and public squares. followed by
her "living environments” and the "windows". (15) ~===emmemm- - in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) thatit 2) which 3) that 4)it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with 4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehensicn:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

There are two types of agricultural crop residues. Field residues are materials left in an
agricultural field or orchard after the crop has been harvested. These residues include
stalks and stubble (stems). leaves. and seed pods. The residue can be ploughed directly
into the ground. orbumed first. Good management of field residues can increase
efficiency of irrigation and control of erosion. Process residues are materials left after the
crop is processed into a usable resource. These residues include husks.
seeds, bagasse, molasses and roots. They can be used as animal fodder and soil
amendment, fertilizers and in manufacturing. Nutrients in most crop residue are not
immediately available for crop use. Their release (called generalization) occurs over a
period of years. The biological processes involved in soil nutrient cycles are complex. As
a rough guide, cereal straw releases about 10 to 15 per cent of its nutrients and pea
residues release about 35 percent of their nutrients by the next year. The speed of
generalization depends on the nitrogen and lignin content, soil moisture, temperature, and
degree of mixing with the soil. N is released fairly quickly from residue when the content
is higher than 1.5 per cent. In contrast, below 1.2 per cent. soil-available N is fixed (called
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immobilization) by the microbes as they decompose the residue. Thus pea residue would
have short- and long-term benefits to soil fertility, whereas cereal straw would reduce next
year's soil supply of available nutrients. Over time. the nutrients fixed by soil microbes
and humus are released and available to crops. Nutrients from residue are not fully
recovered by crops. Just like fertilizer nutrients, nutrients released from crop residue into
the soil are susceptible to losses such as leaching, denitrification, immobilization, and
fixation.

It is stated in the passage that —--—--eeeeuev >

1) process residues are the materials collected from crop processing
2) pea residue has over seven short-term benefits to soil fertility
3) soil-available N is fixed by | per cent of soil’s microorganisms
4) generalization occurs faster in pea residues than cereal straw
The passage points to the fact that ——---——-eeeeev A

1) seed pods are among field residues

2) crop use depends heavily on crop residue

3) husks have very little nutritive value

4) microbes fix the soil’s needed humus

According to the passage, —=---eseeeeeee,

1) process residue denitrification happens very quickly

2) fertilizer nutrients are not immune to immobilization

3) orchard residues release far more N than field residues

4) field residues cannot be ploughed directly into the ground

We understand from the passage that ——-—-eeeeuce,

1) soil’s lignin content is an index of its moisture

2) field residue lowers the efficiency of irrigation

3) animal fodder is often used for soil amendment

4) processes involved in nutrient cycles are simple

The word *stubble’ in the passage (underlined) is closest (0 —=--ememeaeaee,
1) ‘root’ 2) *branch’ 3) ‘straw’ 4) ‘trunk’
PASSAGE 2:

The aurochs is an extinct type of large wild cattle that inhabited Europe. Asia, and
North Africa- It is the ancestor of domestic cattle- The species survived in Europe until
the last recorded aurochs died in the Jaktorow Forest, Poland. in 1627. During the
Neolithic Revolution, which occurred during the early Holocene. at least two aurochs
domestication events occurred: one related to the Indian subspecies. leading to zebu
cattle, and the other one related to the Eurasian subspecies. leading to taurine cattle.
Other species of wild bovines were also domesticated. namely the wild water buffalo,
gaur, and banteng- In modern cattle, numerous breeds share characteristics of the
aurochs. such as a dark colour in the bulls with a light eel stripe along the back (the
cows being lighter). or a typical aurochs-like horn shape- No consensus exists
concerning the habitat of the aurochs- While some authors think that the habitat
selection of the aurochs was comparable to the African forest buffalo, others describe
the species as inhabiting open grassland and helping maintain open areas by grazing,
together with other large herbivores- With its hyvpsodont jaw, the aurochs was
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probably a grazer and had a food selection very similar to domesticated cattle- It was
not a browser like many deer species. nor a semi-intermediary feeder like the wisent-
Comparisons of the isotope levels of Mesolithic aurochs and domestic cattle bones
showed that aurochs inhabited wetter areas than domestic cattle- During winter. the
aurochs ate twigs and acorns in addition to grasses- After the beginning of the
Common Era, the habitat of aurochs became more fragmented because of the steadily
growing human population- During the last centuries of its existence, the aurochs was
limited to remote regions, such as floodplain forests or marshes, with no competing
domestic herbivores and less hunting pressure.

The passage points to the fact that, contrary to aurochs, domestic cattle --

1) live in drier areas 2) have short horns
3) have a light colour 4) can inhabit marshes
The passage mentions that ——---eeeeeeeeen,

1) modern share their horn shape with the extinct aurochs

2) unlike large herbivores aurochs inhabited open grassland

3) zebu is the Eurasian subspecies of the Indian banteng

4) aurochs began their life as a species in floodplain forests
According to the passage, —=---eseeeeeee,

1) taurine cattle were domesticated during the early Holocene

2) humans started their evolution beginning of the Common Era
3) the wisent can turn to a browser similar to many deer species
4) aurochs derive their characteristics from African forest buffalo

There is no mention of ---—<----—--— in the passage.

1) “the wisent’ 2) “gaur’

3) “twigs and acorns’ 4) “rainforest’

The word ‘hypsodont’ in the passage (underlined) originally refers to a tooth having a...
1) low crown and short root 2) low crown and long root

3) high crown and short root 4) high crown and a long root

PASSAGE 3:

A freemartin is an infertile female mammal with masculinized behavior and non
functioning ovaries. Genetically the animal is chimeric: Karyotyping of a sample of
cells shows XX/XY chromosomes. The animal originates as a female (XX). but
acquires the male (XY) component in utero by exchange of some cellular material
from a male twin, via vascular connections between placentas: an example of
microchimerism- Externally. the animal appears female. but various aspects of female
reproductive development are altered due to acquisition of anti. Miillerian hormone
from the male twin. Freemartinism is the normal outcome of mixed. sex twins in all
cattle species that have been studied, and it also occurs occasionally in other mammals
including sheep. goats and pigs. In most cattle twins, the blood vessels in the chorions
become interconnected, creating a shared circulation for both twins- If both fetuses are
the same sex this is of no significance, but if they are different, male hormones pass
from the male twin to the female twin. The male hormones then masculinize the
female twin. and the result is a freemartin- The degree of masculinization is greater if
the fusion occurs earlier in the pregnancy — in about ten percent of cases no fusion
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takes place and the female remains fertile. The male twin is largely unaffected by the
fusion, although the size of the testicles may be slightly reduced- Testicle size is
associated with fertility, so there may be some reduction in bull fertility. Freemartins
behave and grow in a similar way to castrated male cattle (steers). If suspected. a test
can be done to detect the presence of the male Y.chromosomes in some circulating
white blood cells of the subject. Genetic testing for the Y.chromosome can be
performed within days of birth and can aid in the early identification of a sterile female
bovine.

It is stated in the passage that -———--—--—- 3

1) Y.chromosomes can be removed by circulating white blood cells
2) the size of reproductive organs does not affect fertility significantly
3) freemartins grow like and behave the same as castrated male cattle
4) fetuses are the same sex if male hormones passes to the female twin
The passage mentions that ———--—eeeeeeee,

1) mixed-sex pigs and sheep can seldom develop into freemartins

2) freemartin masculinization is next to zero if conceived in winter

3) freemartins’ reproductive development is similar to that of goats

4) a freemartin acquires anti-Miillerian hormone from its male twin
According to the passage, a sterile female bovine--—---=---c-- .

1) has a far lower than average fertility rate

2) is rarely, if ever. affected by late microchimerism

3) can rapidly masculinize its female twin

4) can go through genetic testing very early after birth

The passage points to the fact that freemartins acquire the male (XY) component--------,
1) while they are being born 2) right after they are born

3) before they are born 4) long after they are born

The word ‘chorion’ in the passage (underlined) refers to ‘the--------—-- membrane
enveloping the foetus in mammals.’

1) "lower-section’  2) ‘outermost’ 3) "'middle-part’ 4) ‘innermost’

SiaalsS sl lojl 7 yb 3 ol £l 9 Sif

Sl 00l Y d)la.'.bu plas & o(Yn = F4) alb alls u.ﬂ..a" p,j,.o,; A 45 ufé,f -1

caelae gagjl o (F it (7 w=3ils (Y gy ()
fog oo Sule) Juse Gjled Jaol 090 plas jo -YY
oS gl (F Jols cdle (7 & S (Y & 5l ()

o9 o0 9 y90 plaS &y w0gd o0 DNA Jlgi )0 (a5 StOp > g0 o5 (frame shift) U i eanlize -YY
s dales gadg (paiigp A o Lg).J'U ()
Sen Ol IS 0ol S g Faig ey G (Vb 4y mia (Y
dsdisn o @I 0ol S jl g (g ey ok olisS Az (¥
25 wales sloul cigi) )3 (5t Lol ad deld dgnd o Sl (F



Y axio 111F (1Y+4 05) y9abo g ol pole acgane

STAPOF =) 3 POM =0) all oo S5 3 yho i s 20lo g 5 i )3 i & aanly JIT 5 gl 3 - YF
Sl jaiz> P3M Ly ;0 poa s 30 JT (9! Glgly3 il Bolad Connoz ] )0 L 3b ol

-:)v‘,-a (\
o FYD (Y
o,/ ¥Y& (V¥
y (F
O] o 53 i il i & jlgi 5yL50 3,590 plaS YD
ools g oy yo baoyy olSs Lla (F Wosle g ba s o oy ol 0 Selis ()
ool LU by 51 S5 o 0 ooy ol o Salas (F osle L a5 jo Jadd baoys oyla (¥
\{ Y
oA c G
H'=—— (v h"=—q
cP c P
o<h"<hj <\ (f o<hp<h'<\ (v

Sl WaRz (A O i (51510 9 205 Silao b dunlie 5o slailin] Olie jo Glasl Gad -TY

Area(f Fia (¥ Sl Y S
3,10 sladal) 4 (gloymmm SlbLI 1L (S5 (0] pmedd oo -TA

Al g a8 (Y S gas yaads ()

Byls SBs (6,50 lse (F Al oo Sals (¥

YNV A Y sl % 059 0elae 03 F (550, FY 50 (daf slaaga o (3 sl omj9ae slade )51 -1
lp el 4o LBl 5 j9me udy il p S odeS VA D ¥ g 0,5 9lS VYD O Y (sl g )5 9keS
(! p 5ol Wi Ax(CxD)
A ()
VAA (Y
VAF (¢
Y o (F

PR FYo il b w0ys%) B U e (MPPA) 8 aldyi (g oy Jeie 3 (EBR) ) o551 ¥
!y o @ ol jlad i T=0)F (5 0,1,50 5 0/T0 (5 pacdly b gl polas I iy
YAo, YO —#\V,0 ()
Ya),aY — YYF FY (¥
FYF FY — Ya) 8V (¢
FAV,0 —YAo, YA (F

o 3 Caduo Sy (5l (teV) Cdge baxo g (Pev) Jlul e (GV) S (BY) oMol sl 35,1 -F)
G331 9 (PA) uaii B oadly adgi olys ol Yo g8 Yo o Hlo wud iy Silgas 3 Bo il b
ol joda i i oyl o )80 gl (lge (0 (9ol
40 —Yd (Y 10 =10 ()
Vo d—Yd (F Ve d—1d (¥



A axivo 111F (1Y+9 05) yeub g plo pale acgae

33 L plaS 52 45 i plgas Boo (U oIty g o8l slaeg,F Guilyls FIUT Jgua SLMb! i solizul L
M 6n sBSU (Ko JIUT I Jol> g pducdlyy bl w38 ¥ sk Glaaa b 3 0dlo lges

Ceaw!
i @l df | Sl ye (Sl
oy o Faq FAY
Sy oolgils Jlo b yole e | ass Y/No
Sk odlgils Jals \ocoeo \fid>)
oY ()
gl (Y
o/#) (¥
0,7 (F
U ppard WSS 5l fels ZL alg yo (Specific Combining Ability) paas e oS i culils
ol yl plas 5l
sl g alde (F =l 3k (Y s ()

o 39 (pl (oanigid g (Sl byl Yo b plpy g X Gl 90 (S5 il )laed (Flaae Cumes S 50
SR S 9 Wigd WLRE! X Caso el ¥ Cado (511 lilgas ST .Chsl Foo L Yoo g Voo NP ci i
Syl lpae bl JLo ¥ 5 0 b il byt oole g i Slilgr 5l Jud Joold 9 V)0 byl X Cio (51
o0 yodz (AGy () ¥ cudo (S

) YA ()

VYA (Y

Yo (Y

Y)Y (F

3 2Nl (B35l 9 Ao g Yoo i ja Cide &S slp lodle 3y Gl (BY) (2Nal 3551 51
Sl jodz W) 8 ool glp e s pSdiges b))l il 1T o lagl olais

~Yo ()

—\o (Y

+1o (¥

+Yo (F

Wil SSE =0FF oty loosl sldas Ol ye £ 9o 5510 p0 5150 b FXF 0 e 25k 5 50
Fasl plAS ol Lo 90 (pafilee Sglis jlare OBl 2l Hladie

Y ()

(Y

¥

7 (f

-FY

-fY

-F¥

0

-¥s



} axieo 111F (1Y+9 05) yeub g plo pale acgae

fal Uas Solas yo £ gomo ;s 3590 plaS o Sobai Jolf b Gy —FY

- v
i(xij-i“)‘ (¥ Z‘:i()—(.j—)-(..)v (

=) i J= i

t. 5 _ v 2 _
22 X=X 22 X=X «r
== ==

s0al Gt 100 § Y00 (800 wani yids Uns g slawi o JS Solas o £ 9ames wSoks 250 uils sl 5007 5 ;o —FA
¢l iz leT ol (RT) crantd oy canal
o,Yo ()
o,fo (Y
o/Fo (¥
o;Ao (F

- " . wooA 2 . ., 2 . - .
295 2109 (Op) (2955 o ol lewd Yl o9 (Bolai (53 9 2 Jeso CleMbl v aag b -FA

2 5.5 Y
- (_‘— - v :
ol yard gunn | (50151 4258 | Wl yo £ goe Sl JAi a2 4 ol ey @ (O )
o/ f=o,¥Y) (A
Sl f Y i ,
o f—o‘.;a (Y
suilo SU / .
o/f—o,f0 (¥
5 1 YA : i

fow! yuds jles MS .c..»lou'fc:....aq,g_jolsslbl.,l,s:)l‘g,,h,iulg‘,iaw%b‘c,h&“a -8

1
> (X -X ) =0
i=)
Y0 ()
£ (Y
A (Y
Vo (F
> e Sl 3 i i a3 g S5 50151 A j0 i) G Jloodlin g0 L AXD Y ppe b S 0 -B)
ol plas
‘o YF ()
VYo YF (Y
Yo _YY (¥
VYo XY (F



Vo i 111F (1Y+9 05) yeub g plo pale acgae

Aty p )3 i O yge Caio 1yl ;ST 5l 9 slewd gy b Aol oS laS ol 7,k B o lulejl jo -OY
Sl Jaiz (5,18 paiges slas ilw po (pafilio ) GleMbl & 4 o5 b .l 0l (5 350 3151 b dw  Lu o]
(SSUs = FA ; SS dubejl usly=Y?p)

o ¥ ()
\ (Y
VY (r
Y (¥
bl g i i g 9 4l po (POONING) 00 pLESN oLl il slg o5 il )ty & 525 Jguor jo -OY
LU V- F S P31 |
S.0.V Df SS MS
(LI dya) o | £ Yo B
() Sels | F 5 )0
smloiToladl | V¢ WY o,V
0% ()
oA (¥
YO (T
YO (F

ol S5 & Ly 3l el S gl 2% I 50 b 95518 ke 4 giyo &5 o5 Jgir s azgi b —OF

sl yada plp A Lol Jole ililg

s | by aby ach, acb,
o> A \r IA) \o

Y ()
YO (Y
Frob (¥
Yo (f
Lhs soll a0 g Slmyo ggoma b ply (1) jlad 9 () gimm (i) hdy lati b oY @y0 )0 5 50 00
ol plaS 4 Candly 5l i i
(r=(r) 5 Zz(xij_xi.“x.j”xl -vX )" o
i
(r=awr-y ZZ(Xij_Xi.—X.j_Xt -X) e
i)
(r—\)r-v) , ZZ(xij—i(i.—i_j—i‘ +YX )" ¢

j
(r=)(r+Y) ’ZZ(XiJ_Ri-_)_(-J_)_('+)_( )" (f
i

i



1 axio 111F (1Y+4 05) y9abo g ol pole acgane

P it 4

£39d o0 ddgi 2 p2 Sl 10T pund ULS 1A @ 519 Juisl (2 a8 -0F

Ciy:o (f CyvAn (v Cygiy (v Cygie (0
faiS (oo Joe 59U paoly plgieds Jolhow J310 50 spud plas -0V

JsyeelS Jl (g3 (¥ Ol g5l ()

Js2ian! Jraslens (F Jg el Sl (65 (F
il (oo JUSl e 5 plas 4 55605 5l oud laar glayg iUl S5 il 3 b -0A

A o3lsS ol (F C g5 g (7 FAD (v NAD
Sl 3590 pIaS Sl b i gty oy 4idy 50 T4 F anelanasl g 1 aionel sl (o g JSi 09

aigyly ja0 (¥ e AHIN

ponatls L Sl (F st L Dilio (¥
00,10 (i 0590 pIAS 4 Dilgg puy bidai )3 59 aadd Olggpm il -5

A o3les Lol (F Sl g (Y Sl 58T (Y oLy ()
Fhigal g0 o L5 )0 (Ol pui g2 (o 95000 Ly gl WOlulgindl) (50L (1955 pie pais dw —F)

e sl oo @uidlygios (¥ S35 5l Jybo (5,05 e ()

)l ol (sla Joho @l g (F $ slaJgbo (55 Al (Y
ol G jo B slaouniis ;) lao 5,b,0 090 plus PV

b ge ol 90 a Ve, oKy (¥ S o ek Vipgy Lo adies ()

S god yonis Vipay Lol &l olidl 2a8y K (F DS gl paeid Vipay Lol il tals Ko (¥
3,10 (9 AN JUah o e 5o 1) Linl g gaawlians T ol (0 3 oty (09,5 g plas” —#Y

b aq

C, (f c (v
13,10 3929 L2 dawl Sl 4> Ladgtnd JLSLe o -FF

3,15 D> < Sl (F Y (r Y (Y Y ()
13,10 i S yi plas” JWSH 3o (0 S5 -FO

Jsigmmms 2.6y 0S gin | A s 3laS” Ll (¥ Jajgems & 505 5es LA 33155 Jel ()

S giee 090 4 Jajsie 1A mplss Lol (F (5)05gmn 0g)0 4 S | A mailaS Jo (F
FUlS oo Jos 55950000 Sl gan 9 3185 (lgae s (S il 4312 )3 (paalisg plas -5

Sl gl (F shigm (7 Ol (¥ omals ()
o9 00 @Mb! (Second messenger) pgs jalply s i plas & -FY

! Osayse (¥ Oelsl ()

CAMP L cqil> AMP (f i glys Ogayes (7
€09 g0 plonil o 3T o105 baawgi 9N panne (g0 T Sy -FA

a8 5257y dgdnsd (¥ P Q)

Sregp! Sland S5 (F S Sl pedSpid (¥



WY axio 111F (1Y+9 05) yeub g plo pale acgae

fans co A 1) Sglic ofy plaf codlad , Jokew 38 &y gebans il 331

Slandjens (F #3955 ol (¥ P8 (¥ Sl ()
o9 o0 30,8 JoulS jlged cazge jUjgsdats Cliud o 7 3ol8 aldgi )0 LS Lo plus &
lojgn, audgs (2als (¥ pyabe o9 a5 ()

NADH 5 H sJgs 335 (F NADPH 5 H ag 3505 (¥

3,10 Cunnl glas il 9 o lowdiqm Bl JOVOwN [V g ool g plas blise luly,

Y] Jaid = g (V Seigera = D Galg ()

iyl = A el (F Ol 5 = Ll (T

faias g0 LA 1) 295 (580 i1 oyt PH 6105 53 cchans ol S sl 53

a1 PK 2250 pH 5 (Y Sohale 8 PH 50 ()

A8l sats S g0ty aunl a5 pH. s (F S & ol o Mals” ol pH s (¢
90)‘& ";-EJ 0),‘ &a » .wi W‘ f‘d’

S kel o (F ey (T g5 (¥ &5y O
Cnsl 33 (30) (s (rneli e (3 e 3595055 9 s ) el sl plaas

olss (F Ot (¥ Ay oY1 ()

il 095 (3595l pleds b 53 35515 sl g0 Wig

0 T 7 oy Wi

Foy by FoWi(e Py Wiy Fo Wi (r

39m g0 laTalS yommno Li3gi ar 9o (paoliy g pIAS 39008

Sty sl (F Solad el (Y Gl (Y e ()
Tably alls wilgr (oo yog jul 92yl 2izr 5 J9Sge

(ITH‘. OH Y ()
(IS =0 f (Y
HO—(II —H P
CH,OH A (f
€3 9w g0 0ol invert .3 iy legioe ) plaS (ol Clale L bolie

55555 -1 5 j9la D (¥ S -Dgjesys-LO

3559,8-D 5 55515 D (¥ Fs-L g 58D (r

3,10 s OYle ds Ol jlogd brawi 58 3T pIAS o0 )8 S 50

3U59 9083 VL (F 51 Lagd (Y L (Y 53481 ()

70,13 51,8 s 3T sabsaiabs plas 13 13L59,0080 SLSY s 5
L LS 93 gt (F L ;Y3 008 (7 b jleg ! (Y LajLd ()

-4

Y.

-

Al

Al

-Y¥

-Ya

-vs

Al

-YA

-va

_Ao



W axio 111F (1Y+9 05) yeub g plo pale acgae

Pl wde

Ot yldnaS 1 51 c00lo plaS —A)

E oeelug (¥ G ()

Ja5! 59 el (F Oy Syl (T
oS (o0 Sln] U1 Jghow (1950 41 35915 3959 32 03> 33 (Fiae 03k plaS 3gaa8 -AY

pasesls (¥ pss (¥ pyail (¥ #s ()
Cadl o 390 a1 (4T Cle § Sl yidiew 09,5 pl0F 0 ONE puna gilia JlB 5551 -AY

s s el Codlad _ o gloane G (Y SlaeSs ol yass plowl - Fasss lesets (\

g pas - bagloanaSS (F P HRgx D pad - paS R (7
¥l A Cawgr 0 pieo Sl AR A col 90 plasT -AF

oyl (Y o6 ()

03k slaoy S8 (F Ot 05 Camles (T
10,10 3929 Sijgilow b jeldl plaS whadon janld 50 -AD

Ol il (F Ceibas (7 o plelid (Y g ()
€01 (g yiien (4nasd 2 piylias 525 (a5 1) RUP caie plas —AF

bgs oS (¥ S WS (F &3 coald allus (¥ 3,18 o ()
! uad Caalsld (g a5 3031 A5 51 JS5LES 535 ()5 5lo) HRLEG plas ~AY

Pyl (¥ P! ()

NDF s Lazs pg,5 (F Sl 33 Jolonals ST (T
Yol (gire oolo plaS & baspo (551 005U (w2 —AA

Jaloes slaoass (F el (¥ Oty (Y @ O
faml B gyt 30 CLA JSiS jluw i oy ypdes vy danl plas  —AR

Ssgand | asul (F Setdgially s (7 Segd (¥ Satdgl ael ()
Sl B g y2 Slaad 9 (3ol aid Cale o JhiSTg plas 4.

o Sl (F OgeslianST (F Ogemilijg e (¥ 3 ()
331 e DLyl 002 50 o CALE 1531 b pud 30 puaie plas clalé  -4)

N 4 ¢ o e (7 s (Y &% ()
390 o0 (et 42 s Ll 53 0 par Atull sloray ladgle yu SUII (0 01> -AY

2 gy oM (Y sz o0

laly jo A5 obx! (F 9! Slw! (Y
el (0508 yige Johow o)l 3,190 plaS 0 o Jol> AT

i fge Jale 5 8 Gliee ()

S She Jale 5 Joho o)lps Gliae (F

S fhe Jele g pan LB Jelu o)las olie (Y
e Fye Jele g Jelo com Sloie Joloo ojlps s (F



www.isijournal.net

V¥ axio 111F (1Y+9 05) yeub g plo pale acgae

il go (Bg) crmS g 9ud Jole (611 o0 alalyd & yguods s plas’

alsa (F e (¥ oS (¥ Lges ()

il Can 3 AR g3l b s o 53 j3ub 8,150 5590 plus

S oo agi 5 plp Sl syl Be e 25 e il ()

S (oo W (55505 Ol sl e 5 e il (Y

S (oo Syl (6 e ) a6 )50l B )5 e sl (T

3 bl )l GBas lezis 5 j5ubs 55 ()00 Djsr @ 4 &)l ads (F

Fo9ubs0 N )0 (a9 S0 e sl 9 WS (0 Jok (190598 A S Al 3 ,Ses Bl 4 (aaliy g plas

By oslig (F D ealig (F Sl (¥ oS O

6 o & canly e i gy jluged g | (Ll (Splie O 5 ()l W (3650 (e
Coawl

it = (2 eSS (Y Ot = S - e ()

G2 S = e - e (F 28 = paS - (it (U

bl (nl 53 09 00 yoab aid) el Sasl ol Jgome a2 51yl jaub (2108 0302 )0 (03] jlade )51
Cogun Jolaio 'y 3l slade Wb aiel aul plas’

Cyaigaia (F Slsza s (7 Oegle ! (¥ &=l O

sl a3 it B b oo 5T 51 530 8,050 3590 plas

Sybige yiucd i Skl il el (1

Redsn 55 g pd pean Sl Gl el (Y

Dy ge Ghie Mo 4k an bl Al o aSL Jas pan CoLB Rl s G (7

29 oo aial glaanl 5 Dl ugh pl ean Sl Sl o a8 jad s CLB Sl s o (F
39 g0 Jok )90 pIAT & (59 5y (SOl dlali (5l pundd grlio LB (55 501 p0lhe graaal o

g ot Tl (R g )3 peedgilie LB (655l WAL gite (595 Jols 10

S35 g0 it ot g 3 pecdiplin BB (6551 10l (ghie (30,5 Jolas 91 (Y

Sydige B3l pudglie LB @5 4 Gie5 205 52 il 4 JojeSee T jlade Bl Suta 5500 Jolai ST
R on oS gl plin LB (6551 51 (g5 05 2 il @ gl See YT ke all ane (s Jole ST(F
sl daho 0 p2 WS wd)le I (g pafieny (512 0590 pluS

Sl Segily (F OeeYlgS (¥ O gy e (¥ oadss ()

3305 o0 5900 0590 plaS 5l ooliiuwl b jaub 10 a5 (g y e Gl (pani

saebe V588 IS g (cogibl (ladigal a5 ()

ogelS gl (858 g (pestbl ladigal a5 (Y

sgee YA IS g (cagindS ol (£ Sladiges o0 (T

syl DYgad 13 (29> g (Sran etign 5 a S (F

-q¥

-4

-5

-_y

%A

-4

_\oo

-\-Y

W



10 axine 111F (1Y+4 05) y9abo g ol pole acgane

€315 (5 ytens (359 yod M )3 na sloinsl oIS (59l gLacmiigyy - )oF

eV Jeid g Ll (F g 9 G351 O

igie g Gyl (F Oyl 3 oy (F
o oo a1 Ay J S 50 Gleis b caled b asel (glaaal 938l Ol 31 —1+0

ol b sl (F Jolss pue (T S (¥ dgaS ()
gado 3 P10 3595

fouw! jLi ouiigd ualy din Jilus 9 dilad 4o Hiudgd el 18 Bub L Ligs gl i, Foo alf U gl -5
Yo ()
Yo (Y
fo (v
do (F
Wy (Milk Replacer) ;b (550 L colow 50 soliial glym (i 3 202 wdd yd ol plas” )Y

fadiwd yowlic

stle 09 - (2LS 0ad &0 sl g2 (F pas gl - gLl it sla gy ()
Ly 08l (o9 = gl s slog g (F E2 o - PLS Wigpas la gy (F
i JIAF 5T (593 yod et S0 )0 Sl 390 sMS wany (g8 (ot (53 3590 pl0T Ve
s g slaaly) 551 (Y saityd axly shas ()
2 BRSS9 (5l (5l 85l (F b y2ogSlos 5 Lol 35kl (T
! € 1 pa8 & 33 By 3390 plas’ 1.4
ol el ,-Lf olaws -~ 0dd Cyian| 8 Slaws "
0ud il Slass oud zudli slaws
IR ] gl o108 ¢ odd el ol Slaws &
odd b J=d Slass Jsl <usi zdli slass
Tl 193 o (sallgS S5 lom (2 J @l 3590 plas” -1
Sl Sty g (Fgagn (¥ gy 3 Jae! O
S s hgde 5 Jleo! (F Sl Sigae g Fgests (T
Pl p10S o biumg 039 Sl Jole oot et —INN
2 pd Slans (F Lo yoses g Loz L6 (T las 25 (Y L g g ()
00 8 o0 )18 ey 418 151y slogslows aiwd 53 g ylem plas -NIY
o239y (V s yagail ()
(BVD) (558 (g9 Jlge! (F (IBR) ol spie asT gy, (¥

fa,l0 1) (de novo) Sl J318 3w ol e o phed sl oy dul plas” -11Y
Sl and (F Setland a7 St s el (Y S8 aesl ()



VF axie 111F (1Y+4 05) y9abo g ol pole acgane

ol (339 o5 gt iz Jolao Iagus (b (pliidds 95 50 BCS woly S

Ao—40 (¥F do—Fo (¥ Yo—Fo (¥ Vo=Yo ()

TS g0 ddgi 3 (grilin g0 Sl 3,15 09T 3 ) (50U ) canld o Sl 3y plas

S (F S6 (Y e (Y b ()

39 WWe oad memal (359 0l p S 9laS FO plp (Fig) WO G )0 00l 488 )5 1l jlop o (539 1
(2 oy S5 50 108 1) oamaai )55 B) Sl jui

FA7 (\
f8,0F (¥
f4, 00 (¥

OY)a) (F

$39 g0 o oy 3 (o0 3T b (loand (551 Sk il i (o210 Al yo 1 S5 1l Comsgy &Y plas
progen (Y ! (¥ b (Y py ()

feu! (Asiatic Urial) ol JU ol aiiuwes cole ol 3590 plas bl ) 9il> suindinb 5o

Ovis aries (Y Ovis Vignei (\

Ovis ammon (¥ Ovis musimon (¥

] Jam ;3 IS0 (o g IO gloaziew slp 559 Al plas

b on 8 s g Rl 1) (500 8590 ()

Al Gl (590 899 WS35 (e se sl il (Y

S ) (5 )9 890 S50 (lazian 51y b (T

b el s S5 Gl e (sl 5 SRl wuls laaseas (gl 599 8590 (F

Sl vanlad YY 000 uldgi 3l dm ol Q ;0 ankad Yoo oo ddei HLET 40 & yo Sluwi HIASp £ o alS S5 0
foasl oo yo wi> Hen —day s p alf 5,108 o .Cuwl dus Yoooo sad aldes pou
% (\

YE (Y

A¥ (¥

10 (F

el loj (1 yhaS 4igS pIaS )0 (usr 899 Job

Ogalis (¥ ezl (F €y (¥ &

-\\¥

-1

-\\#

-1y

-1A

-4

-\Y-.

-m

Sl (559 S 20 (g 30 Ol € g (B a0 G0 Bl ia0 &0 g Sl P)laE 510 90 pluas —ITY

e Jsbo a8l g iV n S ()

e Jsbo alS g Vg (MY

oS abgze 13 Sasi o) 5 ¥y (Rl5(F

o5 dbgma ;0 S s ol el g g Jgbo als (F



www.isijournal.net

W axio 111F (1F+8 u5) y9abs 9 plo pale acgae

Yl G yd 3590 plas” 1YY
S go e Sl Gl stimy @ik 1) e G ()
Ryl JPS Sihe 658 Sl ygm; bawgi (BN 50 Jhe adg o (F
Ryt > iy A5l ()9 L5 Loy BN (L oy sla LS, 5 0l (7
Beigr JS jhe g 4SS (69 Sl yg) by (B (e adg po L)L, g 0l (F
Sl & sansis 5335 lylel 33 cia 394l ¥ 51 0500 plas —IYF
Lloul 3l 7, 4l )0 00,5 ool o1 (Y S el 0 Ol g pefe el o colp ()
SlelS 4l o Coliz g o> o col > (F zw el o Cola g 85wl ool (7
ol badi o (95 90 (90r90 oIS Thaw b (o2 5 -1TD

FSH (¥ LH (v Ogrwien (¥ SNy ()
f il o Canandd plaS joubs 53 jliie OIS > J 4555 (Lol 3550 ~1YF
e oS e (¥ oy 85 ()
9Vl ol glaains (F wetsy Jogi (¥
€39 o0 (s 47 J3 0 g0 €30 025 30 o ile (Bl 3 £ e a5 )0 3l ATV
Eropi ) (gl a6 (Y Erops adg als ()
gy (59, somlS aiz p bli olog! (F Slen Salb! LSzs 0 s (¥

fadl axlls gyl 4z ()9 9 9y (S90S i ilg o0 2929 O 90 3Oy Cuslis —1TA

5 (6 Bl (SIS g i Slge £ g Zaalies ()

Sgdise yulay Sysd Frang Gl 5 (0D 350 ol o Suelia (Y

Dgse Se> B pan 286 5 Hlle G5 500 85 cam R 0l Sl (T

Dglga dy (SF1P 0353 @4 5 S1ip 8 as pekl e e SIS0 a8 Suals (F
T ge 9929 43390 IaS i 50 (559205 (i (5 5lem 1Y

Sd 5 el 3905 (Y foredS 39005 ()

i 50 a8l 595 SWOE p 40 el S5nS (F gl a (s s aplymend Jleil (F
il Can )3 rgammms 28 (092 8)b)0 3,90 plas’ 1T+

D950 Jebos Gl 5l gz e Sl L g 00 )13 STl 3l (s 50 ()

Retien Iy ol ol azaa o (NG g 00 )3 SIS sy 3 (¥

ol Y (paca 5l K% g 00 158 SISty jo (Y

el Y cpacx> 5l IKEZ. g 0l )8 dade 4l o (F

Pl 5jsl3 58 5 ogi T

§ s (39 you 39y sl 1 3590 plas’ —1Y)
S ge s sl e s, 51O
And o a5 ) g flages (plgd) diigs (Y
S oo s | LH (55 58035 jl oy e (T
s o l38 | GRRH glal (iS58 5 355 el (F



www.isijournal.net

WA dxiee 111F (1F+8 u5) y9abs 9 plo pale acgae

€ad )0 51y saub iy gl 31 Conuad p1AT 33 o yunel 08AT0 yus 5 slaalg) kas Cotmd — 1YY

plgmailan! (¥ il = (o> g ()
) (f pese (¥
21,3 (Progesterone priming) (s yimwjsn =20 39 Mad Wb o (b JUd) o 1y Blga> pIS 50 —IFY
sl axd S
ol (F e (T Sy (¥ o ()
Pl 1SS sanad 33 355 s (g8 g Jole —IVE
PGROL odslils 255 so3s by (F Aal)l5 (6l Ab s (2315 3925 ()
G 432 YY g, 00 09> Ll & G20 (F PGE0 4 ol 3,5 oz o5 Copmslim (¥
Tl Gl a3 € g yhuw g S B 1 Ly 115590 plas” —1YD
oz J sl ) g8 (¥ o 35l J555 65 ()
pole plaazd 5l oyjs 2l (F o Ol gl (Y

Ol am 33U 3390 plS 1YF
D9dee hiad Glesi 4 4l led SUgF Y pgjaey S (9ge st eole glagsix 5o ()
D oo 03le 6y Luols ol8omd ;3 P e Y pj909,5 5 amds oo sla JLSS s 9ligd e ;8 (Y
sl sliss pload o Y o a8 (2 STL 5 (oS5l (sla JUSn Y pgjaes ) 3529 S jppe 3 (F
Dyl g0 Al 4
olfiws ;o o) Jlaiol ay sillinn i b o 39 (o 93 (08 8 S0l Ldady ] sligo o5 5o (F
By go Slow! Pl asle dlluyS Luls
il a5l Jiege QUEATlgiid )0 (B yuls paliti (sl (y90)98 plAS 3929 1TV
Jglol 2l (F a5y ogeyee (F g oS (F oYy ()
§ il G )3 0yl 5y 85050 5590 plas” —ITA
el JUd i Gmstiig] g 4 S 55 (5l o Ll 25 > bl O
el Slule iy Cloas peasiiigl g ain S5 )l 0 ol S5 > (Y
S o Wi oS sou0 05 i a boglos deacs 58 o 3 b S 2By dad (¥
el g lme 0)l00 amale SLA Cledy il g 4ay )0 el I 2 (F
Sl Al )0 (0 yRadl i 00T gl 500 plas -1TQ

SeY Jobes (Y ¥ Johe ()
(el —3l) s sla Jsbo (F LS gile po! Jghos (¥
Clam! w30 a5V g 5,00 0590 plas —\Fe
ol Ssele 1S3 (5090 LS (V A5 oo e | LaslisS Sollad
sl S0 d;.”....._.i 5,99 ;o laad O-‘ ohle (F b o ali8l egeVlgs dlwgay J by (7

i o yd O 8)b 0 0390 plas -1F)
Al Sl 4 Sl wlall 09,5 wle Silac ()
ool 6 ) S s Bl amenl 13 lnciadhbgle o515 (¥
D9 g S 20 Slages 9 Soagig (ot Slopiaem dgey (Sl )L (T
g gn 1z b 51 (5igey Sl 1 (5536 Y Aagas 558 aly o (59l o 3lae (F



www.isijournal.net

1 axio 111F (1Y+9 05) yeub g plo pale acgae

10,18 5158 coudal p 3l plus ]S Con pdoy (OSk) B0y 40 S1)95 G pas

Ko Sl gl (¥ S ged ()

Ko Jags SLlyS S (F Slyg5 SldySylf (¢

€39 0 plouil (90598 plaS SaSa (Oddi) sog! yiSiiwl blud! 3 | yho s oL
Secretin (F Calcitriol (v CCK-PZ (¥ Gastrin (\

Fw! G yo Sl alas 5,50 3590 plas

il @3 (58 3T 5 G jgmn e G i 6l ()

el DlslE 5 )0 5 5 05 DslSgee 5l o dlde (F

Dpdige el Jslo 75 51 ALl g2 L5 390 el (F

g oo s 39 3 AL awg Je> oS, WS Silac (F

sl (a1 b gl goud o ELA (l5a0 1 F 30 83l (0 Jiedes 0590 plaS
OrST Sy e (¥ Al ()
S s gL T (F SeSE Py s (T
] 0 39294 S gilis jgaumnl (l> plus 5

S )55 0k Hladd sl (Slem 0,5 a5 ()

oM iy (b g plis g Sl o (Y

gl b g I glosl g3l slocklai (g3bj lade (395 (T

Slu S o B lake fudi ads Lot g8 sla 2>y (F

g o0 (9 09l8 SS pgo flad alais § (50 5 DL argo L9 )0 b Jgku plas
JLSlze (¥ FaregSLAT Lusa¥ySle (Y @Yyl 2 ()
Flamwl G o (5150l olGwd 30 3590 plus

Ded oa adg Bade Loyl ol jlaie wadl axiy ADH Sl 5 a5 ol&a ()
Sg ea 1 oPH 20158 Sl ypsin g b ol Aol o 53 W Sligel (Y

e o 58l slaaly) (0 Ol g pud AL Ll el g mugall (F

s g il Gl a5l sladyd sla ko ol gl (F

faiid (oL Al addgi Jogtume Lo Jolus plas

Plasma Cell (f Mast Cell (v Lymphocyte T (Y Lymphocyte B ()
Chigd oo Jiiio (5300 S8 ok 4 (105 5 Slwlds 392 90 DLt )i 15390 plas )0

o33l = S sSS - gy - 35l (Y ot 32 = 0550 = Sl - ST ()

oS Bl - Wntis - oot 32 = ] (F S aenSlga - Bl L 5nST - SIS (Y

i )lo ol Sl gl y cudlad 5,5l 4> Cholinergic ol =i

HLSL o S Pl el g bl WY Sl 5,8 L 2l g el 2els ()
Sl 5t 0o S 1 Gl g Lol A CF Sl g o S 1 Ral3i g Lo iglys el (F
Yol b Jokw plas 255 cleas Epiphyseal plate Jab o)

Osteogenic layers (f Osteocytes (Y Chondrocytes (Y Osteoblasts ()

-\FY

-VFY

-\F¥

-\fa

-\¥s

~\FY

-1FA

-1¥4

YN

-6

=10y



Y axieo 111F (1Y+9 05) yeub g plo pale acgae

flawl Al 5 piden 9500 ,ol.x!,_,io; o o Slaxi -VAY

oSl (F » (Y o5 (Y wead €A
] Ay y90580 gy BB (3 90 plas —1OF

OF Bl (F gt (¥ Omonails (V180 )5 55l5 ()
N uﬁJ,.n..a' é,._ms ‘shdw j' 3,80 pL\S -164

eiiaeisS oS Rl (Y o8 o=l ()

Chare (S0 g W atigp asian sl (F

95 Olge adsi g b g s ST





